f

(\\P(rv\i’i /\\vvo!wﬁ[{; fATR [l Ci N Epu

Y N

DErneTminT. Computbr  ENGENECCRING
maTeic NOO ] ENGoz]oge

L= -4
=45 gl

Coexde) = | i jok
1 0 -¢4
-0 7

O 2o g0

-b T g -k

= Lo=T4) 7 C6430) ) CHp 1 0)

) b : it -2k
TR N A
Cz  ~2c
[D pp\—lg)]& C
p-2h = e jak- 2030000
=34 +j"7‘i'¥"él‘rh =&l
= _’Li.[,S‘J ,LHg 4 {'.
(Aoagdec = 7L f ¢ K
el B -2 .
s ] o (2t [
10 =2 1y
SREALRLDEINE SIS SAESD
- = .—zo}- —SJ‘ ’y!&

|



by Crexipd)= || ]

- _7‘5
\ L) -11 |
’({1*7—(' (HL{#J/
-F2 =1L -1y -1 F1E A2
‘&]L—Eﬂ C‘rF q,f IFYS SIS SR
==Lt ‘-lW‘L
02) A {)) ‘é -1k
B*LﬂTJ -l
CI]-—;,‘ TML‘
HC@)&O =t -l =0
Cf . -]
R N - L -
e}l -] Tz,} - e(w 1
-2 7 R o
0o PLL-3)p bCEeN=202-1)
0= Jfeft £ 480
0= 17499

P -1



- C 7
C’ZC)(}E\ = [‘ J 9\[
fi O _-¢ |
RN
T o
‘l{o “f‘"‘[ U-'%]ﬂgu o‘{
- fco"1%>U*C@f&@) TYETET)

= =2 2 JC





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

